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STATISTICS
( General )

Full Marks : 40
Time : 2 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x4=4
wore faamare et Ted i

fa) Define multiple correlation coefficient.

JE ADTIT BN A= fagi |

(b) The relationship between NRR and GRR
is .

( Fill in the blank )

T AR PO AT JW TS W e
| .

| (<M 3% °R = )
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(2)

(c) Define type I error.
A%y CIARAR @foq sigen fa |

(d) ryxy =0= X and Y are independent.

( Write True or False )
rxy =0= X 9% Y¥q |
( 3791 7 =pTey fordn )
2. Answer the following questions : 2x3=6

T PFROA TET 3]0

(a) Distinguish between population and
sample.
e w1 2o qed “tiefen forsi |

(b) What is meant by the statement “NRR of
a place is 1:165"?
“9 W 4TS gw T W (NRR)-4 TN
1:165""—q% TfEmR oo for |

(c) Given that the regression equation of Y
on X is Y=2X+4. State why the
regression equation of X on Y now
cannot be X =-1.4y +3.

A7/271

( Continued )

(3)

T Care (@ X-9 89[q® Y- SRR SARFCo!
R Y=2X+4. R I_®© Y, X
SAFINGT X =-1-4Y +3 I GIRIE, IR

et |
3. Answer any two questions from the
following : 5x2=10
o f (Il b1 R Ted A ¢ -

(a) Calculate crude death rate (CDR) for
regions A and B and also find
standardized death rate (STDR) for
region B taking region A as standard, of
the following data : S

were fial SR [l A WF B HEEd I

wee JgRA fAdT ¥ WF A TEEH
PR AME Rod 4R B ween audiee

ToIRA Sfered
Age Group| . Region A " Region B )
T S‘M Population (in ’000)| Death Population (in "000)| Death
]
' w7e3T (7000-9) | ¥97 | &3 (7000-9) | T
0-5 30 640 25 200
5-15 45 290 40 240 ‘
15-35 60 430 55 360 |
35 and 45 480 40 420 |
above
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(4) | (5)

(b) A random sample of 100 students has a 4. Ansv;rer any two questions from the
mean height of 162:6 cm. Test whether following : 10x2=20
this sample has come from a normal :
population with mean height of I S R e o o bed 3R
167-2 cm. Given that the population SD
is 12 . 5 .

e cm . (a) () What do you mean- by life table?
100 & QR <01 Iyfes i o1 (oSt Explain the various columns of a
THeR WO 1626 G R R @ life table. © 2+5=7
aferihr Twer Wy 1672 GR. @ @b
P SRS @1 WA AR ORIl e ot e & @2 §W ofer
R =01 f (T @ ABOR T Reem R TmR T H
Ta12 R 1
: ) i) With usual notation of life table,
() Show that (with ustal notations) : 5 @ W
, prove that
(S A (/A1 IRTS FoFA@) -
& CIfFR, A3 7O PR o9
1-Rfps = -r3)-r.0) A o
d) Writ ‘ . =
{d) Write short notes on any two : 214%2=5 T, =llx+lx+l Fly g o
R e 9om 5y G foran 2
(i) Expectation of life .
EIARR dGP ‘ (b) (i) Define Student’s t-statistic. Mention
(i) Uses of F-statistic its applications in statistics. =~ 2+3=5
F-aforfe T : g rafefem e R ofRam
(i) Multiple linear regression ‘ Rars t-eforfes ITTREN BEY ]|

R (RF ey
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(6) (7)

(i) Write a note on chi-square test of

goodness of fit. Also mention the (@ii) Partial correlation coefficient

underlying assumptions for its oA T BNT
application. 3+2=5 1"
_ R {iv) Effect of change of origin and scale
1:; @g GI;:T? :;W ;;Iﬁ v on correlation coefficient
R vee BrEd 74 | TR QT 8% T R wF =
. , °R RIS SR
?c) Find the angle between two lines of -
regression. Explain what happens to the ‘ % ok %k
regression lines when r =0 and r =11.

. 7+3=10

AT Q9 [OEA A @IRe R F4
r=0 ¥ r =11 X7 WRAT @ [OF FHA
T, IG 0

(d) Write explanatory notes on (any two) :
5x2=10

TROPT BT o (R e ) -

(i) Sources of vital statistics
&R o o Rive te

(i) Sampling distribution

&if¥5Tm 3%
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